VERAITI




aar e n

T i“ il |

i

[l -
ﬁwﬂh ﬁmmﬂ

COMPANNY
INFORMATION
AT

BNRRERAERARR—RIA A EMBEM, RPR. Bt LEME
A—-BrARLGELE BATHRAR. RBAR. ABRRZTRMR. £
s, FEAERNTHORMMNZNE B BRI AR RS
N, BERAERREFGRSS, BHRRTERBRTRORRE
AT U R TR R B AR, SRR E S F R MR -
RPA R AREERA S — AR RIE AR, [FRF A e O M R
MITiss ERRLTR, BEMA, KEM—, HURLFTRT, BB
AERRA AT LL , W2 S B PR 1L 364 1 M 1ISO-9001 EIFREI ME MR M o
15014001 HAHEWR

BT BB R R R RIS RS E R A IR A S
#BE, HAEL

TAIZHOU VERATTI ELECTRICAL CO.,LTDs located in Wenling City,Zhejiang,China.

We are iali in igni ing and selling vortex air pump,side chanel

blower,ring blower and blower pump etc.

Our manufacturing base covers 8000 square meters, our product adopted the fluid
techniques import from Germany,casted with aluminum alloy,processed on high precision
CNC machine,100% passed the dynamic balancing test,make our product more
reliable and durable.With outstanding performance and excellent quality and superior
cost efficiency.The product sell well throughout China,and are exported to Southeast
Asia,West Europe and North America.

We sincerely welcome friends from various circles at home and abroad come to

visit, Meanwhile,we await for you to co-creat the brilliant.



01

PERATING PRINCIPLE
e ARR TIERIE

FRRRERESERBEETRIET £, RR2HREWERE 5T RMR
TR, FRURETEERANBET, BEMRBHNRX

fliEiE Side Channel

BE8R Impeller TR
KMABRKO 1RA, BEEAREE 2 LA%, [E5ER 3 EiEdgsm
AR EEAE, FRBEA _EEEO DRI RS BB i
W0 Outlet REE TSV, SMMEIREIEI, (BB i — SR
#K 0 Intolet N BERERLEEZE H Q%% , KMRFHELRHEBHR O 4 HRTEM.-

The impellers are mounted directly on the motor shaft for noncontact compression entirely without friction.Maximun operational reliability,even at high differential is
ensured by the arrangement of the bearings outside the compression chamber.

The gas it taken in though the inlet1.As it enters the side channel 2,the rotating impeller 3 imparts velocity to the gas in direction of rotation.centrifugal force in the
impeller blades accelerates the gas outward and the pressure increase.Every rotation adds kinetic energy.

Resulting in the further increase of the pressure along the side channel.The side channel narrow at the rotor,sweeping the gas off the impeller blades and

dischargring it though the outlet silencer 4 where it exits the side channel blower.

VORTEX AIR PUMP EXPLOSIVE VIEW

e ARR S RE

o s oW o=

poa e

> Rk
> R
©Rig
73
> B

Pump Cover

. Impeller

Pump Body
Bearing
Bearing Seat

6. JEMR

7o

8o Bh

9. HER
10, BB

6. Base plate

7. Oil seal

8. Gasket

9. Silencer net

10, Silencer sponge

-
o

CHEE
R (G5
N =

N

RE:: 7

. Silencer pipe

. Connector(flange)
. Rotor

. Motor

. Terminal box

16,
17,
o EHEE
190
20>

16,
17,
18,
19,
20,

WERATTI

~ WiRE
~ R

WHRER
THE

Motor housing
Motor end cover
Motor fan

Motor back cover
Supporting tube

02



SERIES PRODUCT
RIRRIIER

L e RS L HEUR HER BBIERE

B R E R AR s Jat HEmEAR UERAR

03




WERATTI

HIGH PRESSURE VORTEX AIR PUMP
BEERRR

GB 250

GB 370

. HRWER fovd S AR ;3
M&ZI 1 Rated voltage | Rated current Frequency | Ma:
odel

GB250 220 25(.0) 50(60) 12(14) 4857 85(10)  0.25(0.30)

GB250S £220Y380 gﬁ"zg:gg; 50(60) 12(14) 48(57)  85(10)  0.25(0.30)

GB370 220 35(4.2) 50(60) 16(19) 60(70)  11(13)  0.37(0.44)
155(2.11)

GB370S azovas 155210 50(60) 16(19) 60(70)  11(13)  0.37(0.44)

05

L
Speed

2800(3400)

2800(3400)

2800(3400)

2800(3400)

erEmam

31x28x28

31x28x28

31x28x28

31x28x28

GB RIIAEBRRIEAREAE (EELETIEQRI MR

Performance Curve of GB Series Vortex Air pump (for reference only and not for testing basis)

GB 250 ® 50HZ 025KW @ 60HZ 0.30KW
100 — T T
2 (MR suctio ( It blow )
60

s
S

& Flow (m°h)
o N
®» - 8

o
o

GB370

100

0
20 18 16
e W Vacuum

FUE Pressure el

® 50HZ 0.37KW @ 60HZ 0.44KW

@
S

( ﬂ&)\ suctic‘ n

(it blow )

-3
=]

N
S S

/|
/

T Flow (MY/h) se—

o
®

o
o

o

20 18 16
C—— WZEE Vacuum

R Pressure b

100
80
60
40
20

0.8
0.5

100
80
60
40
20

0.8
0.5

T Flow (M) ee—

TR Flow (M) se—



. E RATTI GB FFUBEIMRRMEABAAR ((HBLLETIAQRIKIR)
Performance Curve of GB Series Vortex Air pump (for reference only and not for testing basis)

GB 550 © 50HZ 0.55KW @ 60HZ 0.66KW
HIGH PRESSURE VORTEX AIR PUMP
5 200 : : ‘ ‘ 200
BEEARE (WA suction ) (It blow )
160 g 160
120 ; = 120
GB 550 ! ] —]
T 80 80
3
& w0 40
=
B o1 :
750
08 08
05 05
0 0
36 32 28 24 20 16 12 8 4 0 0 4 8 12 16 20 24 28 32 36
— WZEE Vacuum FUE Prossure )
GB 750 ® 50HZ 0.75KW @ 60HZ 0.90KW
200 . . . ; 200
( WA suction ) 1 ( It blow )
160 160
wew = .
ik Rated voltage | Rated curr;nl Frequency | Max = \\\
Model 120 120
v A HZ | Ka | mh | Ka KW | dmn | d8 K& K& oM =
T 80 80
GB550 220 4.8(5.76) 50(60) 20(24) 110(132)  16(19)  0.55(0.66) 2800(3400) <60 126  14.1 32x31x30 3 . o
2
GBS50S azovao 251008 50(60) 204)  110(132)  16(19)  055(0.66) 2800(3400) <60 12 135  32x31x30
08 08
GB750 220 6.3(7.56) 50(60) 22(25) 145(170)  18(20)  0.75(0.90) 2800(3400) <60 165 18 35x32x33 05 05
0 0
GB750S £ 220 Y380 ?:g}g:;% 50(60) 22(25) 145(170)  18(20)  0.75(090) 2800(3400) <60 16 175  35x32:33 3% 32 28 24 20 16 12 8 4 0 0 4 8 12 16 20 24 28 32 3
G WZEFE V/acuum RUE Pressure e

07

T Flow (M) ee—

TR Flow (M) se—



‘ E H ATTI GB FFUBEIMRRMEABAAR ((HBLLETIAQRIKIR)
Performance Curve of GB Series Vortex Air pump (for reference only and not for testing basis)

HIGH PRESSURE VORTEX AIR PUMP G301100 SN ezl
BEEARE o (WA suction) Rttt blow )
180 e o

GB1100

]
S

72 Flow (m*h)
3

o

GB 1500

3% 32 28 24 20 16 12 8 4 0o 0 4 8 12 6 20 24 28 32 36
e W Vacuum FUE Prossure —p
GB1500 © 50HZ 1.5KW @ 60HZ 1.8KW

350 T T T T
( WA suction ) ( It blow )
. o AR " B | mxonm | mxmam 860
B Rated voltage Rated current Frequency Max.pressure Max.flow | Max.vacuum Speed
Model 1 aso
<
v A HZ | Ka | mh | Ka KW | dmn | d8 K& K& oM % 200 \\
GB1100 220 8.7(10.44) 50(60) 25(30)  210(245)  2024)  1.4(1.3) 2800(3400) <60 23 247  37x37x38 3 150 =
2
# 100
GB1100S azovao 3308 50(60) 25(30)  210(245)  20(24)  1.(13) 2800(3400) <60 215 229  37x37x38
50
GB1500 220 118(14.16)  50(60) 26(31)  220258) 2125  15(18) 28003400) <60 234 28 37x37x38 o
Geisios  azovaso 33020 soe0) 26(31) 220255 2125  15(18) 2800(3400) <60 225 26 37x373B s a8 4 3 % 24 18 12 6 0 0 6 12 18 24 30 % 42 4 5
G WZEFE V/acuum RUE Pressure e

09

T Flow (M) ee—

TR Flow (M) se—



WERATTI

HIGH PRESSURE VORTEX AIR PUMP
BEERRR

| GB2200S |

e HERE 4 Et BARZEE L
M!JZE ! Rated voltage Rated curren Frequency Max.vacuum power Speed
odel

GB2200S £220Y380 8459%23-512} 50(60) 36(43)  325(385)  28(33)  22(26) 2800(3400) <70 29 315  42xd2xd2

GB RIIAEBRRIEARMAE (EELETIEQRIHR)

Performance Curve of GB Series Vortex Air pump (for reference only and not for testing basis)

GB2200S

© 50HZ 22KW @ 60HZ 2.6KW

450 T T
( M suction

(Bt blow )

50 /
0

54 48 42 36 30 24 18 12 6 0 0 6 12
e WZEFE Vacuum

36 42 48 54
FUE Pressure —p

450
400
350
300
250
200
150
100
50
0

TFEE FlOW (M) e



VERATTI

HIGH PRESSURE VORTEX AIR PUMP
BEERRR

| GB3000S |

' e i BARE Z8 ]
’lel Rated voltage | Rated curren Max.pressure GW | Packing volume
lodel

11.07(13.29)

GB3000S A 220 Y380 6.39(7.67)

50(60) 37(44) 330(375) 29(34) 3.03.6) 2800(3400) <70 35 375 43x44x44

GB RIIAEBRRIEARMAE (EELETIEQRIHR)

Performance Curve of GB Series Vortex Air pump (for reference only and not for testing basis)

GB3000S

400

® 50HZ 3.0kW

@ 60HZ 3.6KW

( W)‘\ suctic‘ n) —

W
&
S

(Rt blow)

@
S
S

NN
S o
S S

@
S

T Flow (M7/h) se—

=)
S

a
S

o

54 48 42 36 30 24 18 12 6 0 0 6 12
e W Vacuum

18

24

30

36 42
B Pressure

48 54
_—

400
350
300
250
200
150
100
50
1

0

T Flow (M7/h) se—



WERATTI

HIGH PRESSURE VORTEX AIR PUMP
BEERRR

| GB4000S |

asoveso 577008 50(60) 3845)  475(525)  30(35)  40(48) 2800(3400) <70 47 54

GB4000S

GB RIIAEBRRIMEAREAE (EELETEQRIHR)

Performance Curve of GB Series Vortex Air pump (for reference only and not for testing basis)

GB 40008

© 50HZ 4.0KW @ 60HZ 4.8KW

o
0
o

(l&)‘\sucti‘n) T

(‘l&.‘ﬂ blow )

I
a
3

[
<
a

@
S
3

N
N
o

TR FIOW (M) s

a
3

~
a

/

o

54 48 42 36 30
A WZEE Vacuum

24 30 36 42 48 54
FUE Pressure —p

525
450
375
300
225
150
75
1

0

TFEE FlOW (M) e



V| GB RIIAEBRRIEAREAE (EELETIEQRI MR
Performance Curve of GB Series Vortex Air pump (for reference only and not for testing basis)

HIGH PRESSURE VORTEX AIR PUMP GB3500S s e RS o)
EE'E iﬁi; | 800 ( m)\ suctic‘ n) (‘nt:ﬂ bl Lw ) .
700 700
600 == 600
[ GB 55003 } ’Esoo — = 500
& 400 [~ 400
| GB75008 | W SN
200 200
100 100

0

0
54 48 42 36 30 24 18 12 6 0 0 6 12 18 24 30 36 42 48 54

e W Vacuum FUE Prossure —p
GB7500S © 50HZ 7.5KW @ 60HZ 9.0KW
800 . . . ; 800
( WA suction ) ( It blow )
700 700
[—
600 = = 600
E 500 500
o wew HEEH = AR b | R <
- Rated voltage | Rated current | Frequency | Max.pressure GW | Packing volume 2 400 400
v A Mz ka | wh | Kea | KW | omn g
12 300 300
GB 55008 asoveso  LHIRD soe0) 42(50)  530616)  34(38)  55(66) 2800(3400) <70 62 71 48x50x52 200 200
100 100
GB75008 A 380 Y660 :;5((521967:)) 50(60) 45(62)  550(640)  35(42)  75(0) 2800(3400) <70 65 74 48x50x52
0 0

54 48 42 36 30 24 18 12 6 0 0 6 12 18 24 30 36 42 48 54
e W Vacuum R Pressure )

T Flow (M) ee—

TR Flow (M) se—



V|
‘ E RATTI GB RIMEMATIEAREE (LSS TR

Performance Curve of GB Series Vortex Air pump (for reference only and not for testing basis)

GB9500S © 50HZ 9.0KW @ BOHZ 10.3KW
HIGH PRESSURE VORTEX AIR PUMP 1200 1200
s T — —
BEERRR (WA suction) —~— (73 blow)
1050 1050
=
900 900
GB 95008 5 |
E 750 750 £
H
& 600 600 3
11000S % -
i 450 450 38
300 300
| GB 150008 |
0 0
9 8 70 60 5 40 3 2 1 0 0 10 2 30 40 50 6 70 8 9
[ GB 1 80008 } RER Vaowum FR Prossure — —
GB11000S © 50HZ 1KW @ 60HZ 12.5KW
1200 — — 1200
( WA suction ) T ( It blow )
, P AT " " " uE ] oo ~_ 4050
ik Rated voltage Rated ent Frequency Max.pressu power Speed Noise Packing volu
Model 900 900
v A W Ka | mh  Kea | KW | dmn | d8 K& K& oM i £
E 750 750 £
GB9500S asgoveso 21 50(60) 70(80)  1000(1150)  40(52)  9.0(10.3) 2800(3400) <70 100 125  695Bx61 2 600 600 3
] ]
— i 450 450 8
GB11000S asgoveso  2GLA 50(60) 75(85)  1050(1200)  40(52)  11(125) 2800(3400) <70 120 135 695Bx61 w00 200
GB15000S asgoveso  ZEBE s0(60) 77(87)  1050(1200)  40(52)  15(17.2) 2800(3400) <70 125 140 695861 10 / 10
0 0
- % 8 70 6 5 4 3 2 1 0 0 10 2 3 40 5 6 70 8 9
B 18000S saoveeo D s060) 79(89)  1050(1200)  40(52)  18(207) 2800(3400) <70 130 145  695Bx61 —— R Vacuum S Pressure  ————b>

19



21

GB RIUBEBRRMAREAE (EHLETEQRIHR)

Performance Curve of GB Series Vortex Air pump (for reference only and not for testing basis)

GB 110008 © 50HZ 15KW @ 60HZ 17.2KW
1200 T T T T
1050 (TR suction ) I ( i blow )
5
~— N~
900
£
E 750
u—g_ 600
;]
i 450
300
150 \
0
9 80 70 60 50 40 30 10 10 20 30 40 50 60 70 80 90
G W2 Vacuum FUE Pressure el
GB18000S ©® 50HZ 18KW @ 60HZ 20.7KW
1200 T T T T
(TR suction ) I ( Mt blow )
1050
= \
900
3
E 750 ™
é 600
;]
£ 450
300
150 /
0
9 8 70 60 50 40 30 10 10 20 30 40 50 60 70 80 90
A W22 VVacuum RR Pressure el

1200
1050
900
750
600
450
300

1200
1050
900
750
600
450

300

FEE Flow (M) se—

TR Flow (MY/h) se—

DIMENSION DIAGRAM
EERRIERATRRTHE

B
Mode
GB 90
GB120
GB180
GB200
GB250
GB370
GB 550

GB750
GB 1100

e
LW e e A M R
205 184 200 96 32 80 158 172 55

205
223
223
260
260
277
300
325
325
3717
377
435
475
475
660
660
660
660

184
200
200
246
246
268

200
212
212
247
247
272
302

340
340
385
385

470
480
480
570
570
570
570

96
110
110

32
36
36
37
37

47
58
615
615

110
118
118
92

92

80
86
86
90
920
93
m
15
15
125
125
143
148
148
207
207
207
207

172
204
204
235
235
265
265
300
300
326
326
330
415
415
415
415
415
415

88888388

20
920
920
920
949
P49
049
950
P60
$60
960
P60
976
P76
976
9110
@10
9110
@10

G1'l
Gt
Gt
(VA

G2',

22



DOUBLE STAGE VORTEX AIR PUMP
SEREARR

GB550/2 GB750/2
GB1100/2

GB3000S/2
GB4000S/2
GB5500S/2

GB1500/2
GB2200/2

24



WERATTI

DOUBLE STAGE VORTEX AIR PUMP
URBIEAARSEE

i ThaE HRER
Model Freauenw power Rated vo\tage Ra‘ed cu,,em

GB550/2

GB750/2

GB1100/2

GB1500/2

GB2200/2

GB3000S/2

GB4000S/2

GB55008/2

25

83388338833883838

0 55
0.83
0.75
0.95
1.1
1.5
15
2.05
22
255
3.0
3.45
4.0
4.6
55
6.3

200-240 A
220-275 &
200-240 &

345-415Y

380-480Y

345-415Y
380-480
345-415
380-480
345-415
380-480
345-415
380-480
245-415
380-480
600-720
660-720
600-720
660-720

384 / 2.2y
3.754/2.15Y
4240/24Y
4.023
5.7/3.3
6.0/3.5
7.5/4.3
7.6/4.4
9.7/5.6
10/5.8
12.5/7.2
12.6/7.3
9.0/5.2
9.4/5.2
13.317.7
13.317.7

8

103
110
130
110
130
150
180
150
180
320
380
320
385
320
380

24
24
25
23

28
31
42

20
31

37
50

61
58
60
58
60
66
69
66
69
73
76
73
76
73
76

WARZE MARE HRE ni
Max 'Iow Max.vacuum | Ma pressure No\se N W
8

16
17
17
18
18

83BBEENINBR

GB RIERSRIEARMLE ((UASETIFRNIKIE)

Performance Curve of gb Series Vortex Air pump (for reference only and not for testing basis)

GB550/2 ® 50HZ 0.55KW @ 60HZ 0.83KW
150 - - T T
120 ( A suction ) ( It blow )
= 9% =
E e | =
H
£ 30
-
T s 32 28 24 20 16 12 8 8 12 16 20 24 28 32 36
A W22 Vacuum FUE Pressure e
GB750/2 ® 50HZ 0.75KW @ 6O0HZ 0.95KW
150 — T T
120 ( M suction ) ( It blow )
= %0
£ &0
3
£ 3
Il
= 0
3% 32 28 24 20 16 12 8 8 12 16 20 24 28 32 36
G WZEFE V/acuum FUE Prossure e
GB1100/2 ® 50HZ 1.1KW @ 6OHZ 1.5KW
150 T - T T
120 ( WA suction ) ( It blow )
— |
;g 90
§ 60
£ 30
Il
£ 0
% 32 28 24 20 16 12 8 8 12 16 20 24 28 32 36
G WZEE V/acuum FUE Pressure — e

150
120
90
60
30
0

150
120
90
60
30
0

150
120
90
60
30
0

TR Flow (MY/h)  se—

FE Flow (M) e—)

T Flow (M) s

26



GB RIERSRIEAMLE ((MABETIFRNIKIE)

Performance Curve of gb Series Vortex Air pump (for reference only and not for testing basis)

GB1500/2 ® 50HZ 1.5KW @ 60HZ 2.05KW
275 - - - - 275
220 ( WA suction ) ( It blow ) 220
£ 165 165
E 110 il il =3 110
5 i Sy
2 s 55
% : 0
3 32 28 24 20 16 12 16 20 24 28 32 3%
— (75 \acuum RUE Prossure )
GB2200/2 © 50HZ 22KW @ 60HZ 2.55KW
275 T T T T 275
i I
220 ( MBA suction ) ( It blow ) 55
= 165 165
g —]
B> / — |
110 — B — 110
£ 55 ~ 55
- 0
45 40 35 30 25 20 15

20 25 30 35 40 45

D e S R VETTIT FUE Prossure e

GB3000S/2 © 50HZ 30KW @ 60HZ 3.45KW

400 T T ; ; 400

320 ( M suction ) ( I blow ) -
g0 240
£ 160 160
3
© 8 80
[l
g 0 0

45 40 35 30 25 20 15
C— FZ2E Vacuum

20 25 30 35 40 45
FUE Prossure el

T Flow (M*/h) ey

T Flow (M) ee—)

TR Flow (MV/h)  se—)

GB RIERSRIEARML ((URASETIFRNIKIE)

Performance Curve of gb Series Vortex Air pump (for reference only and not for testing basis)

GB4000S/2 ® 50HZ 40KW @ 60HZ 4.6KW
] 400 ‘ ‘ : : 400 ]
( MR suction ) (1 blow )
320 : 320
| =

20 20 2

£ 160 160 £
H

2 ol \\\ 80 2

45 40 35 30 25 20 15
e W2 Vacuum

GB5500S/2

400

20 25 30 35 40 45
FUE Prossure el

@ 50HZ 5.5KW @ 60HZ 6.3KW

T T
(TR suction )

— 400
(i blow )

320

240

160

H
E
g, /

80

EE Flow (M/h) sy

80 72 63 54 45 36 27
S L7 Vacuum

0
36 45 54 63 72 80
RE Pressure )

28



WERATTI

DIMENSION DIAGRAM
SRBEARRERTE

VORTEX AIR PUMP FITTINGS
dERRRE

U

Size 5 .
Ml » % 5 o D £ oMM KLMNO P QWS T L Vovoovowoam o owe W " s relErinve oeor ek
GB550/2 284 316 270 45 205 230 316 135 128 106 111 83 108 75 130 39 G1/4 64 10 3 88 M6X17 - - M25X1.5 M16X1.5 27° 140 M6X15 51°/171°/291°
GB750/2 293 324 286 47 205 230 354 160 141 114 120 83 108 82 138 41 G1/4 64 10 3 92 M6X17 - - M25X1.5 M16X1.5 27° 140 M6X15 51°171°1291°
GB1100/2 293 324 286 47 205 230 354 160 141 114 120 83 108 82 138 41 G14 64 10 3 92 M6X17 - - M25X1.5 M16X1.5 27° 140 M6X15 51°171°/291°
GB1500/2 322 324 315 58 225 255 401 191 154 153 128 95 130 73 151 45 G122 72 12 3 104 M6X19 - - M25X1.5 M16X1.5 28° 174 M6X15 51°171°1291°
GB2200/2 322 324 315 58 225 255 401 191 154 153 128 95 130 73 151 45 G12 72 12 3 104 M6X19 - - M25X1.5 M16X1.5 28° 174 M6X15 51°/171°/291°
GB3000S/2 426 426 410 63 290 325 496 188 197 162 135 140 180 84 205 53 G2 83 15 4.5 130 M8X17 - - M25X1.5 M25X1.5 240 M10X20 51.5°/171.5°/291.5° 42 E
GB4000S/2 426 426 410 63 290 325 496 188 197 162 135 140 180 84 205 53 G2 83 15 45 130 M8X17 - - M25X1.5 M25X1.5 240 M10X20 51.5°/171.5°/291.5° 42 -
GB5500S/2 426 426 410 154 290 325 571 226 197 162 167 140 180 200 205 53 G2 83 15 4.5 130 M8X17 - - M25X1.5 M25X1.5 240 M10X20 51.5°/171.5°/291.5° 42 |

==

Bk A7 EHECBER

FILTER AR KNIFE FILTER+PIPE PIPE ELBOW PIPE

29 30



WERATTI

TAkRIFIRG (R )
o BEIX, PR HES i$HD ik SB

BRI
) R
0

~ o omESS

WEAN (2.00mmaq) RSHRE, BASCHERN
)

BERBRS

LUSERURARR, MORMER, TEATARS
b

BRI

BRASEHOD

BERRALIRT

L

BHBAREARYT, EIFRBL

fEFRMX

USSR AR

SABMFRTZIR

SWE

UMBETRRS, LBRER

FIRAZEST)

TSR RN KRR

FHMAESAME

KRR

EEMERERTAS

s, BBEH

HERAL

sDeREFe

31

APPLICATION EXAMPLE USE OF BLOWING

e Blow hoover exhaust cool transport air cushion

The gas and heavy

Wash the battle machine

Can collect all the bits

Itis dry to use the air knife

Air cushion

oil gush out firing

-/
air pump

and dries up

dries up the water df
m:;%udmrm '7WMB!

air pump

automatically after cut the Paper
Colth piece blow and send off

The domestic animal excrement
ferments fierceness gas

High pressure air s blown inothe
Storage fecal groove,ncrease the contact area,and
ngt

Subpoena transport

tregards ar as motve force to

Powder body transport

incinerator

iting

trough,make the electroly circulate,and repel
adhering 1o the bubble and make sleciropiate
rapidlyhe resuls s even.

The exhaust gas blows smoking

air pump air pump

blower Dust and debris

The oxygen supply
in breed aquatics

water in the pool

‘Wash the car and dry up

convenientto s it press product of talking shape
aftr o take out

Print and force dryness

g
ransport

ayrfast

32



\4
VERATTI
TAVR ARG (IR, ) APPLICATION EXAMPLE USE OF SUCTION
e Blow hoover exhaust cool transport air cushion

o JEMX| IR HES 1D ik |B
The sucking of the pi Eject the exhaust gas and dust The weavseutéinsoi‘r'v(\ machine Photo - engraving

produced while welding drawing

The powder body transports

machine of entwork

BARHIRL FRAEHIAR

FARREDRIALIR YRR SIREL

X \§§\\ SRS

5
T HIJ A

HIBA AR Print suck

dehyrate the hole

d other gri 2
blowing or sucking to ransport

BUKiL

focktato the protect the operalor ensure health

R
RS RETS, REREAE

REESRRE, BB
prining operation
Incomplete cloth deal with

‘Vacuum dehydrate

FURRRMENE, LLMEDRIEL
Industry hoover

Tukagd: kIS

EDRIIRE

B air pump.
=]
[ —— B, SR, BERKY [Ee— waonzsn Vacwm sorton g o Fackry sheys scrao e o e Paper Glothcuttingprocessing
% =1 3 il - - 2 "
HIERIAFH SR INTYIRIRES THIF ZAH Ox 'ri“::(gprf‘gec;‘icna:on Bean curd machinery Keeping processing Defence works scene Iron cloth machine
w S air pump e oil pressure
_ _~device
> R
v ™ N
.
7 //mg/ﬂwm wn BASR y TRy
RRSHATIRE, FEND, othe cleaning tnk cloaning Woodyfistond obwnon. Timel i sl sl Press coth willemit vapor

A, DRSFREZER

EARREZRORIFA WIATE, ENRARIED

33



